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1.

What are Tektites ?

(a) Glassy meteorites
(b) Sedimentary rocks
(c) Igneous rocks

(d) Tectonically deformed rocks

- Which one of the following observation

supports the Big Bang théory ?

" (a) Recession of galaxies -

(b) Expansion of galaxies

(¢} Recession and Expansion of gala-
xies

(d) Stagnation of galaxies

Which one of the foliowing radioactive

isotope method is not suitable for dating .

the Precambrian rocks ?
(a) 14C

(b) Rb/Sr method

(c) Sm/Nd method

(d) U-Pb method

Which one of the following represents‘

composition of the stoney-Iron meteo-
rites ?

(a) Nickel, Iron and Sulphates
(b) Nickel, Iron and Phosphates i
{c) Nickel, Iron and Silicates

(d) Nickel, Iron and Carbonates

P-DTQ-J-HFM - A

5. Which'one of the following pairs makes

the bulk composition of the sun ?
(a) Hydrogen and hydrogen

(b) Hydrogen and helium

(c) HydrOgen and argon

(d) Helium and argon

- Which one of the following minerals

can be used for determining the age of
the Vindhyan sandstone ?

(a) Pitch blende
(b) Monazite
(c) Glauconite

(d) Tlmenite

- Which one of the following is related to

the development of rugged topography
of midoceanic ridges ?

(a) Fast spreading rate
(b) TIntermediate spreading rate
() Slow spreading rate

(d) Uncertain spréading rate

. Which one of the following is the

correct sequence .of events in the
Wilsonian cycle ?

(a) Breakup of continents — Seafloor
spreading — Subduction collision

(b) Seafloor spreading — Breakup of
continents — Subduction collision

(c) Breakup of continents — Subduction
collision — Seafloor spreading

(d) Subduction collision - Seafloor

spreading — Breakup of continents
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9. Which one of the following is a plate
boundary as well as a strike- -slip fault ?

(a) Himalayan Frontal fault
(b) Great Boundary fault
(c) Great Glen fault

-

(d) San Andreas fault .

10. Who proposed that the convection
currents in asthenosphere cause the
lithospheric plate movement ?

(a) Arthur Holmes
(b) Tuzo Wilson
(c) M. P. Billings

(d) D. N. Wadia

I1. What is the flow pattern of a river
. system that resembles the tree
branches ?

(a) Trellis pattern
(b) Dendritic pattern
(¢) Radial pattern

(d) Rectangular pattern

12. Which of the following types of rivers
receive their discharge from the ground-
water of the area ?

(a) Effluent rivers
(b) Intermittent rivers

(¢) Perennial rivers

(d} Influent rivers .
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13. Which of the following agents form
Roches moutonees ?

(a) Wind
(b) River
(¢} Sea

(d) Glacier

14. Maich List I with List II of acolian land
forms and select the correct answer
using the code given below the Lists :

List I List IT
A. Interior basin 1. Playa
surrounded by
mountain 2. Pediment

B. Talus apron at
the foot of the
mountain

C. Upland with
lag gravel

3. Hammada

4. Bolson

D. Seasona! salt
pan at the centre
of the basin

Code :
A
(@) 1
(b - 4
() 1
@ 4

[ o T O T U R % 1 ‘tU
WWw oM 0
- A = AT

15. Which one of the following processes
results in development of an oasis ?

(a) By the filling in of a depression by
water '

(b) By the meteoric fall causing a
depression on the ground

{(¢) By wind erosion down to water
level in a desert

(dy When an

advancing  glacier
terminates ’
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16. Match List I with List II and select the

17.

18.

correct answer using the code given
below the Lists :

- List I List I1
A, Barchans 1. CaCO3 columnar
_ deposits on the
B. Wave-built floor of a cave
terrace

2. Formed by river

C. Stalagmite -action

D. Cascade 3. An aeolian deposit
4. Feature of a
sea-profile
Code : |
A B C D
(a) 2 4 1 3
(by 3 4 1 2
(© 2 1 4 3 :
(& 3 I 4 2
Which one of the following is a primary

structure ?

(a) Joint plane

(b) Fault plane

(c) Bedding plane ‘

(d) Cleavage plane

The line of intersection of two planes
pitches at 90° on both th_e planes, which

of the following interpretations is
correct ?7

(a) Both planes are vertical

(b) The strikes of the two inclined
planes are mutually perpendicular

(c) One plane is horizontal

(d) One plane is vertical
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19.

20.

21.

22,

Which one of the following expressions
denotes maximum inclination of an
inclined bed ?

(@ 1:25
(b) 1:40
) 1:10
@ 1:30

A set of horizontal beds overlie another

set of horizontal beds separated by an
irregular unconformity surface. What is
the type of unconformity ?

(a} Non-conformity
(b) Paraconformity
(¢) Angular unconformity

(d) Disconformity

‘Which one of the following folds is

characterized by a constant orthogonal
thickness in all the parts of the fold ?

(a) Similar fold
(b) Parallel fold_
(¢) Flow fold

(d) Shear fold

Which one of the following term des-
cribes the joints that are perpendicular
to the regional fold axis ?

(a) Cross-joints
(b} Columnar joints

(c) Hybrid joints

(d) Shear joints
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23. Which one of the following represents a

curved fault plane that dips gently in
depth and becomes steeper nearer to the
surface ?

(a) Rotational fault’

(b) Reverse fault

(c) Listric fault

(d) Hinge fault

Study the map as shown in the figure .

above and arrange the following events
in the chronological order starting with
the oldest :

1. Faulting

2. Formation of unconformity

3. Inltrusion of thin dyke

4. Intrusion of thick dyke
@ 4-1-2-3
(b) 3-1-2-4
©) 4-2-1-3

(d 3-2-1-4
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25. Which one of the following is correct

26.

27.

while taking bearing of an object with a
clinometer compass ?

(a) Pointing N end of the magnetic
needle towards the object

(b) Pointing N marked by the crown on
‘the dial of the compass towards the
object

(¢} Pointing S end of the needle
towards the object

(d} Pointing E or W marked on the dial
towards the object

Younging
A

What is the structure given in the figure
as shown above ?

(a) Owverlap

(b) Outlier .

(cj Off lap

(21) Inlier

The siereographic projec.tion of poles to
bedding surfaces is found to lie on a

common great circle. Which one of the
following is the correct interpretation of

the structure ?

(a) Non-cylindrical folding
{(b) Cylindrical folding

(c) Conical folding

(d) Tsoclinal folding




23, Rl 3 & = 7 OF, T SR

frefig s, T TREA T gH & .

JUT 998 ¥ A9tE Sfauaor & |rar & ?
(a) HUN ¥
(o) I I

(c) WafEH U

$@mﬁﬁﬁamﬁmvmﬁﬁaﬂmmﬁ
Fifory o Freaforfer gzl 1 @ §
§6$®Hmwﬁwﬁaﬂﬁa£ﬁm:
1. s |

2f&wﬁamanﬁﬁm

3. 9@t TS T AqSET

4fﬁﬁmﬁﬁmmﬁWT
@ 4-1-2-3
:_@)3-1—2-4
@)#—2—1;3

(d 3-2-1-4

| x.%mﬁﬁaammw%ésmg%ﬁﬁmm

F F foq frefefen & & sl @ @&

HE 7

(a) T g & N R &t agg & 0
frdfi ==

‘@)Ewm%mmﬂmﬁgﬁmﬁﬁﬁﬁ

N 3 ] i 3 FrEfwE e

@ T F SRR & ag & @ Rk
AT

(d) TEa R FHfET E staan w ot aeg &
7R Al &

Younging
A

. g wael ¥ forg gt @ Bfe g@T T

HW geq 99 W 9ET Sar §
frreferfra & & 1 a1 T, T8 qCa A

"mﬁmwm%?

(a) IATAHRR FAA
w{%mﬁ#mﬁ
(c) SFETHIE ToA
(d) TRARIE I

A - P-DTQ-J-HFM




28. Which one of the following statements

is correct ?
Oblique lattice “is invariant under
rotation of
(a)' E and @
3
(b) 7 and 271
- A{) -:',E and 27
4 p
(d) 2% and &

29. Which of the following ions occupy the
octahedral sites in spinel 7.

(a) Monovalent ion
(b) Bivalent ion

"(c) Trivalent jon
(d) Tetravalent ion

30.

[

Look at the above orientation figure of a
basal section of a pleochroic mineral

If x=yellow, y=green and z=dark
green, which pleochroic colour will-be
shown by the above mineral if 100 plane
is parallel to polarizer ?

(a) Yellow

(b) Green

(c) Dark green
(d) Dark yellow
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- 32.

- 33.

31. Which of the following symmetry ele-
ments characterize pyrite crystal ?

{a) One six fold axis

(b) Two four fold axes

(c) .Three t.WQ fo]d axes ‘- R , .

(d) Four two fold axes

Whlch one of the following symbols is._

used to denote tetragonal axis of

symmetry ? :

() - -

(b) | "
A : ’

(c) I :

(d) . ':;;;‘

~Which of the following is bounded by
twenty four. similar faces, each meeting
the axis at unequal distances and the
general symbol being (hki) ?

(a) Dodecahedron
(b) Diploid : _ P
(¢) Tetrahedron .

(d) Pyritohedron
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34, Which of the following crystals have

3s.

(d)

36.

37.
tion will be exhibited by the basal

basal pmnacmd as a form 7
1. Rutllc
2, Idocrase
3. Zircon
4, Apophyllite

Select the correct answer from the
code given below :

(a)
(b) 2 and 4 only
(¢) 3 and 4 only
(d) 2,3 and 4

I and 2 only

Which of the following form is charac-
terized by three or more nonparallel
faces mtersectmg at a common point ?

(@)
()
©

Prism

Pinnacoid

Pyramid

Spheroid

Which one of the following minerais
shows strong pleochroism 7

(a) Quartz

(b) Muscovite

(c) Orthoclase

(d) Hornblende

Which of the follewing types of extinc-
section of a monoclinic mineral under
microscope ?

(a) Straight

(b) Parallel .

(c) Symmetrical

{d) Undulatory
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38.

39.

40.

41.

L

Which: one of the following minerals
shows’ parallel extinction ?

(a) Augite
(b) Hypersthene

. (¢) Diopside -

(d) Hornblende

Which one of the following has highest
refractive index ?

(a) Sodalite

(b) Fluorite

(¢) Leucite-

(d) Pyrope

The isogyres would show which of the
following position in case of large 2 V ?
(a) 'Highly curved

{b) At right angles to each other

(c) Touching each other

(d) Virtually straight |

In which of the following situation a
biaxial mineral is positive ?

(@) X is acute bisectrix

(b) Y is acute bisectrix

(c) Z is acute b'isectr.ix

: (d) Z is obtuse bisectrix

42.

Which mineral occurs in small, hexa-
gonal, colourless to white, plate-like
crystals found in cavities of volcanic
rocks ? g

{a) Opal .
(b) Chalcedony Coud
(c) Tridymite .
(d) Cristobalite e
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43. Which one of the following palrs is.

44,

not correctly matched ? |

_ (Mineral}

(a) Apatite
(b) Gypsum '
(c) Orthoclase
(d) Tale

Match List I with List II and select the
correct answer usmg the code given
below the Lists :

List I

(Plagioclase -

feldspar)
A. Oligoclase
B. Labradorite

~ C. Andesine

. D. Bytownite

45.

Code :
A B
@ 5 1
(b) 2 1
(c) 5 3
(dy 2 3

(Moh's scale
of hardness)

5
2
8
1

. List 11
(Mole%
Anorthite)

1. Angy- Ang,
3. AnSO - Al‘l-;m

MR W oA

1

D
4
5
4
5

Which one of the following chemical
composition denotes

group of minerals ?.

(@) (X¥)Z,0;

the amphibole

(®) (XY),.4(Z,0,, O,

© X%¥,2,0,,

(d) (XY),4(Z,0,))
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" 46. Which garnet contains Chromium ?
(a)
(b)
(c)
(d)

Grossularite

Pyrope |

Uvarovite

Almandite

Which of the following mica mineral

‘contains appreciable amounts of Li
content ? :

47.

(a) Biotite *
(b)
©
(d)

Paragonite
I\;Iu'scovite
Lepidolite
Match List I with List IT and select the

correct answer using the code glven
below the Lists :

48.

List I List 11
(Mineral {Chemical
Name) Composition)
A. Magnetite 1. ALSIOq
B. Dolomite 2. ALO,
C. Sillimanite 3. Fe30,

-D. Corundum - 4. CaMg(CO3)2

.Code :
A B C D
(a)r 2 1 4 3
.3 1 4 2
© 2 4 1 3
d 3 4 2
14
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' An70 - Ango

(a)
(b)
(c) .
(d) 3
 fafafas & & @ @1 ¢ EEES
o, @l & Affrare @9 @ il
s = '
@) (XV)Z , 05
(b) (XY)7 3(24011)(0H)2 ’
(©) X3Y,Z301,
(d) (XY);5(Z,0;1)
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49. The optic axis interference ﬁgu're
-(uniaxial crystal) has :

1. Radial lines indicate
directions of ‘E’ ray.

vibration

2. Show isochromatic curves.

3. Tangential lines indicate vibration
directions of ‘O’ ray.

Select the correct answer from the
' code gwen below :

(a) 1,2 and 3
(® 1 only
(¢c) 1 and 2 only

(d) 2 and 3 only

50. What is the correct term .to denote the

separate SiO, groups, in which the
tetrahedral are not linked directly to
each other but are bound together by
intervening cations ?

(a) Nesosilicates
(b) Sorosilicates -
" (¢) Cyclosilicates -

(d) Inosilicates

51. Which one of the following is not a
phosphate mineral ?

(a) Francolite
(b) Dahllite
(c) Coliophane

(d) Phosphorite

P-DTQ-J-HFM - A
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52.

53.

" (a) Diaspore

54.
- correct answer using the code given

Thotium, extracted from monazite,
belongs to which one of the following

groups ?

(a) Oxide |

(b) Silicate o
(¢) Phosphate |

(d) Carbonate

Which one of the following is the main

Alumina ore mineral in East coast
Bauxite deposit ?

(b) Gibbsite '
{c) Boehmite

(d) Altered sillimanite

Match List I with List II and select the

below the Lists :

List II

List I |
(Ore | {Chemical
mineral) composition)
A.Ga'lena 1. PbS
- B. Cerussite 2. ZnCO,
C. Anglesite 3. PbCO;,
D. Smithsonite 4. PbSO,
Code :
A B C D
(a) | 2 4 3 .1
by 1 "4 3 2
© 2 3 4 1
-(d) I 3 4 2




49, TS ster safaeR<or aNFfy (T ST -

foreeet)

1. ¥ sw W@ E ﬁT(UT’cﬁWﬁQW
7 2 Fdt £

2. auEvlt a% gefifa F<ar g

3, % el Xt 0 R Y A
fewr =t i Y €

A Ry 7 g2 &1 gOn FK a8 W

g

(@) 1,293

(b) Faa 1 |

(c) Hae 1 a2

(d) e 23R 3

. T Y TEY = A Si0, W 1 ffdee

Far &, o Sgehorhia Twh-gE ¥

TR gu & Ao afew awmaw F weradt

IO F FU ST A8 7

(@) et

,,ﬁmﬁfiﬁﬁ@raﬂwm@,maﬁw
S

(a) ﬁﬁﬁ?ﬂ?ﬁ

(b) S®IRZ

(¢) HIAHA

(d) BERRTEZ

52. AT & frewfta Aifgs fatstea
A Y o o A gEEa g ?

(a) HTFETES
by fafedwe
(c) WfEhe
(d) FElaE

. eifae st fraw ¥ et & @

PN AT U, & UGiHAT A e & ?
(a) SHETER

(b) Freze

(c) FEHTE

(@) afafia feiare

Cadt 1w g 1A gaf iR o

qfii % A R g 52 F1 T R A
Wﬁﬁm:

SR SSIBL
(3w (Tramatas
atr) )

A. | 1. PbS
B. @iEwTEE 2. ZnCO,
C. UrdftaTge 3. PbCO,
D.f@mEFEe - 4. PbSO,
- XN |

(a)

(c)

D
1
2
i
2
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55.

36.

57.

Which one of the following pairs is
not correctly matched ?

(a) Hydrothermal Gold

(b) Magmatic Chromite

(c) Sedimentation Kyanite

(d) Residual Bauxite
concentration

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List IT
{Process) (Sub process)
A. Magmatic 1. Cavity filling
B. Hydrothermal 2. Dissemination
C. Contact 3. 'Rccombination
metasomatic 4. Weathering
D. Residual
concentration
Code :
A B C D
(a) 4 3 1 2
by 2 | 3 4
(c) 4 I 3 2
(dy 2 3 1 4
Which types of rocks contain the

Graphite deposits of Kalahandi, the
Garnet deposits of Rajasthan and the
Kyanite deposits of Singhbhum ?

(a)
(b)
(c)
(d)

-Igneous rocks
Sedimentary rocks
Metamorphic rocks

Both Igneous and Sedimentary
rocks o

P-DTQ-J-HFM - A
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58.

59.

" B. Jamarkotra

60.

Which of ‘the following hosts " the
Chromite deposits of Andhra” Pradesh ?

(a)
(b)
(c)
(d)

Dunite
Peridotite
Pyroxenite

4

Amphibolite

Match List I with List II and select the
correct answer - using the code given
below the Lists :

List I List II
(Place) - (Deposits)
A. Gani-Kalava 1. Chromite
(Andhra Pradesh)
’ 2. Copper

(Rajasthan)
C. Nausahi (Orissa)

D. Kollihills
(Tamil Nadu)

3. Phosphorite .

4. Bauxite

Code :
A B C D
(a) 2 3 1 4
by 4 1 3 2
¢y 2 1 3 4
(d) 4 3 i 2

Consider the following ultramafic rocks
(igneous) :

1. Peridotite
2. Alkali-Peridotite
3. Dunite '
4. Pyroxenite

What is the correct sequence of these in
the order of decreasing MgO®O and
increasing CaO ? : )

@ 3-2-1-4 .
M) 4-1-2-3 r2
© 3-1-2-4
(d) 4-2-1-3
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. 56.

@

.57.
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B. IS zﬁﬁﬁ#f
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_331":, "
A B C D
@ 4 3 1 2
®» 2 1 3 4
4 1 3 2
@ 2 3. 1 4
FITETEr & dwge 8w, Toedm &1
e e it e &1 amase. fE,
Q0 & forg gop & reaafee € 7
(a) SIT?FTW |
w)ammﬁﬁﬂ
(c) IR o

(d) AT A T I A

.19

S8.

- 59,

B. SHTGRAT (TST64T)

g g3 & e faw feafafea
¥ & o qra sar & 7

(a) §A=RE

(b) ufSrere

(c) TTRIFATEE

d) YPharerEE

gt 1 A g 0 & g Hifem ok

ﬂ%ﬂ%ﬁﬁﬁmmvﬂawwhﬁmaé
IR T :

gat 1

(vaw)

A. TfEr-Hear

(AT g_T)

il
(fréa)

1. P
2. am™

3, BIERITEE

C. Arardr (IhT) .

D. Rifee (afiemrg)
L T

(2)
(b)
(c)
(d)

NN
- w0
RN N v

Y

 Preafofie afedfes O () w

e i«

t. ¥

2. aro-afeiere

3. e

4, TTRIEEAREE
T T Y MgO R =@ B CaO ¥

FHE AR yEH AT g ?

@ 3-2-1-4
b)) 4-1-2-73
(c) 3-1-2-4
d 4-2-1-3
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61.

62,

64.

(b

‘Which one of the following - textures
characterizes the Eutectic point ?

(a) Porphyritic

(b) Ophitic

(c) Subophitic

(d) Graphic

Which of the following rocks is noted
for having ‘mantle xenoliths in it 7

{a) Carbonatite

(b) Lamprophyre

(¢) Kimberlite

) Ko

Kor_natiite

. F (Norm) values of Barth are calcu-

lated to determine which one of the
following ?

(a)

Rate of crystallization of. magma
Depth of crystallization of magma

(c) Priority of crystallization of plagio-
clase or pyroxene form a basic

magma

(d)

Compositiqn of plagioclase and
“pyroxene crystallizing from magma

Match List I with List Tl and select the
comrect answer using the code gwen
beiow the Lists :

List I List IT -
(Rock) (% Minéml)
A. Websterite 1. 60% ol — 15% opx - '
. 25% cpx
B.Lh lite '
erzon . 60% ol — 10% opx —
C. Harzburgite 0% €pX
3. 60% ol - 30% opx —
. D. Wehrlite 10% cpx
4. 10% ol — 50% opx —
40%.cpx

P-DTQ-J-HFM - A
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65.

Code :
A B C D
@ 2 3 1 4
® 4 3 1 2
© 2 1 3 4
(@ 4 1 3 2

What is the curve above which the

+ system is completely liquid ?

66.

67.

@

.(a) Solidus

(b) Liquidus
{¢) Eutectic point
(d) Solid solution”

Which one of the followmg can be used

as way-up-criteria ?
Pillow lava
(b) Blocky lava
(€) "Ropy'lava

(d) Pa-hoe-hoe lava

Which one of the following represents
an intrusion of thé magmas of different

- composition through the same channel ?

68.

(a) Multiple intrusion
(b)
(c)

(d)

Composite intrusion
Forced intrusion
Dyke

Who discussed the origin of basalts in

terms of the An- Dl—Ab Fo quaternary
system ?

(a) Osborn and Tait 51952)
(b) Yoder and Tiliey (1962)
(¢) Tuttle and Bowen (1958) -
(d) Bowen and Schairer (1935)




61.

62.

63.

frafafa & & @9 & o, W,
Teghiferer faeg St forerear & sam@T 8 7
(a) é’rﬁfﬁ?ﬁaﬂﬁaﬁ(qﬁﬂ?)

(b) ST

(c).waﬁtﬁﬁﬁ

(d) @I |
fFfotaa & & g O # A sqaw &7
BT ST Srrar & 7

(a) WEMEEE

(b) AFITHE _
(c) - forraege
(@) FHIE

me%li(miﬁ)ﬁﬁ ffafaa & &

%ﬂ@aﬁﬁaﬁiﬁmﬁ%mm '
BRCC R ICR

(a) T F TR
(b) FET F foreeem &t TR

(o) weafifers Fem & AR

64.

e & e fr grafasar
(d) Fr Feem ¥ ofelww @k
IR & §9e

gE L & gEr 1 R gafera Eﬁﬁm aﬂt
it F A i 7o ge F1 5@ & ag
T 1 T n
(§=) (afasr %)
A. TR 1. 60% ol - 15% opx —
2t : « 25% cpx
8- 2. 60% ol - 10% opx -~
C. grigitse 30% cpx
: 3. 60% ol - 30% opx —
D. seteTs 10% cpx ’
4. 10% ol — 50% opx —
T 40% cpx
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65.

66.

67.

C T

()
(b)
()
) 4

39 TF F T FEN & P IR fraw

TSR,
— = Ww

W W e =
N RN R d

(c) TeMsitaF &g

(d) o e

ﬁmﬁf@a ¥ Y I O o, F-H9-
wreRar i axe Taeh fear o wwar € 7
(a) FRram amar -

(b) Wt AT

(c) & &HETl

(d) TTRIEER AT

U & arfeet & g Al guen & v
#1 e Frafafaa & & fw o &t

feflgs@r g ?

(@) =g Iaded
(o) fire sadaw
(c) TOFHT Aqda
(@) ST

. An-Di-Ab-Fo Iqd wEred & @ &

T X JFTee Y It < fF faEr
fepar ? )
(a) HATEH 3R & (1952) ‘

(b)) et oK 2R (1962)

(c) 2ot 3K ST (1958)

(&) AT A BT (1935)
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69.

70.

71.

Which one of the following combina-

tions facilitates soil formation ?

(a) Weathering rate high and erosion

rate low

(b)

Weaithéring rate high and erosion
rate high '

- Weathering rate low and erosion
rate low '

(c)

C)
rate high
Consider the following :

1. Perfect .gradation btheeﬁ the
country rocks and the granites.

2.-Chilled margins of the grr:u_lite.

3. Presence of xenoliths of the earlier
country rocks in the granites.

4. Granophyric or graphic texture.

5. Relict bedding in granitic rocks.

‘Which of these are the evidencesin

favour of the magmatic origin of
granites ?

(a)
(b)
()
(d)

1,2 and 3
1,2 and 4
2,3 and 4
3,4and 5

—

Which of the following characterize the
grain supported limestones ?

(a)
(b)
(c)
(d)

Wackestone
Packstone
Boundstone

Dolostone

P-DTQ-J-HFM - A

Weathering rate low and erosion’
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7.

73.

74.

75.

Which of the following represents the
initiation of ideal turbidite 7°

(2) Horizontally bedded siltstone with
- bioturbation _
(b) Ripple drift cross laminated sand-
stones :
(c) Graded sandstone with sole marks
(d) Ripple bedded sandstone inter-
bedded with siitstone
Which of the following characterize the

period of no deposition, no erosion and
no perceptible rock record ?

‘(a) Diastem _ .

(b) Unconformity

(¢} Discontinuity

(d) Anamoly ;

Which of the following pairs. is not

correct ?

(a) Bird’s eye epigenetic
‘structure

(b) Convolute Penecontem—_
bedding poraneous

(c) . Stylolite’ dissolution

(d) Graded- syngenetic
bedding

Which of the following petrographic

descriptions fits the term Quartz

arenite ?
95% quartz and matrix content

(a)
- greater than 15%
(b}

95% quartz and matrix content less
than 15%

85% quartz and feldspar content
greater than 10%

(c)

(d)

85% quartz and rock fragment
content greater than 10%




69. Frfafa ¥ & &9 &1 GF @99 g

formfor &t g T 8 7

| (a) wwaéﬂaﬁtwaﬁw,
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(a) AFET
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(d) e

72,

frafafas § & @19 a1, smef efdeme &
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RINEESN

(by T arvame fids sl ae@nA

(c) T g & o wivrs STany
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| Frfafas ¥ & =59 @1, 39 s@fy &

fvwar 7 garar ¢ e = g,
FE aRET ¥R R gaw 99 sfea

AE TR Y

(a) STHFAHT
(b) fawfE=Ta
(c) I|IaA
(d) =rawfa

4. Frrfef & & A a1 e AE g & 7

75.

(a) 9 ATER
AT
(b) Hafed 0T : THEHEEIE
(c) TIEARE . fawos
(@) wHie geaor ;. "Eend

frafafaa ® @ == a1 9« avfq epfesw
WA W & o Jugen 2§ 7
(a) 95% oFfew oK Afdam it 71T 15%
q ufes
95% Thfzen S Afwr F AT 15%
¥
85% Hfem 3. FegPqi & wEAT
10% & stferes

. 85% TEieE AT O @< T 74T 10%
g arfers

PIRESITA
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76.

77.

78.

-
L]

Match List I with List II and select the
comect answer using the code given
below the Lists :

List I _ List II
A. Well sorted sand 1. Glacial -
" deposit
B. Dropstone 2. Beach
deposit
C. Graded bed 3. Turbidite
) deposit
4. Fluvial
deposit
Code :
A B C '
(a) 3 i 4
by 2 1 3
© 4 2 1
d) 2 3 4

Which of the following is the main dis-
tinguishing character between. Arenites
and Wackes ? .

(a) Arenites are texturally mature
whereas Wackes are immature.

fb) Arenites are better sorted than
Wackes

(c) Arenites contain rock fragments
less than Wackes

(d) Arenites contain up to 15% matrix
whereas Wackes contain above
15% matrix

Which one of the following is a plate
boundary associated commonly with the
paired metamorphic belt ?

(a) Mid oceanic ridge
(b) Transform fault
(c) Subduction zone
(d) Continental rift

P-DTQ-J-HFM - A

79. Which one of the following  retro-

80.

grade metamorphic pairs is not correctly
matched ?

(Reactant) (Product)
(a) Diopside Tremolite/
Actinolite
(b) Grossular Biotite,
' garnet Chlorite or
Serpentine
(¢} Kyanite Sericite/
Muscovite +
. quartz
(d) Plagioclase Zoisite/
' ’ Clinozoisite +
albite
Which of the following mineral assem-
blages indicate granulite facies ?
(8) Quartz — Albite - Epidote -
Muscovite
(b) Quartz — Orthoclase — Sillimanite —
Almandine '

- (¢} Calite - Quartz — Epidote —

81.

Tremolite

(d) Quartz - Oligoclase — Muscovite —
Andalusite - Cordierite

Match List T with List II and select the
correct answer using the code given
below the Lists *

List I List II
{Rock) {Texture)
A. Amphibolite 1. Cataclastic
B. Schist 2. Granoblastic
C. Charnockite 3. Lepidoblastic
D. Mylonite 4. Nematoblastic
Code :
A B C D
(a8 1 2 3 4
(b) 4 2 3 |
{c) "1 3 2 4
4 3 2. 1

()
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(d) %'raqﬁﬁﬁqz
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79.

80.

81.

frafafem & & @9 &1 oF s
FETt 4o w¥t gafer wE @ 7
(a) STRATETEE FHraTEE/
fFeETe
(b) T e FTAT ATFH,
' FATZE AT
aieze '
(c) FAATEE dfarz /
YATRNF +
THiEH
(d) <RREw . SEEEe/
: FATRATAZEATZE +
TeaTEe
frafafag & & s @ a@fRe e
TRy Tereroll & IR Far § 7

(a) ©FEF — WeaTEe - UfUsIe - e adTe

(b) THEH - IfdiFes — R -
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(d) THEF — oifemimeS — WEEE -
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g 1 @ get 11 & gafaa il ek
qﬁﬁ%ﬁ%%ﬁﬂﬂ?wmaﬁaﬁ
G’ﬂ?ﬁﬁ'ﬂ::

AN SRR
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A. MR 1. dIgeAT
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& e
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(a) 1 2 3 4

4 2 3 |

.1 3 2 4

@ 4 3 -2 1
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below the Lists -

List T
(Texture)

A. Helicitic -~
texture :
polymeta-
morphic

B. Decussate
texture :
crystals
hypidiobiastic
Prismatic
and randomly
oriented

C. Porphyro-
blastic
texture :
graphite |
inclusions,
clock-wise
rotation of
porphyroblast

D. Idiotropic
texture :
Generally
idioblastic
Crystals,
‘randomly
oriented

Code :

@ 2 4
) 3 1
© 2 I
@ 3 4
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List II
(Figure)

82. Match List I with List II and select the

correct answer using the code given

e

26

83.

84.

Which one of the following implies
‘Helicitic structure’ ? . -

(a) Any arrangement of inclusions

representing a relict structure pre-
served from an earlier metamor-
phism

(b) Arrangement of inclusions in con-
centric layers in a porphyroblast

(c) Development of a concentric zone
. or zones of one or more minerals
surrounding another mineral -

(d) Relicts of an earlier mineral result-
ing. from its replacement during
metamorphism

‘Which one of the following associations

is rare in metamorphosed pelitic rocks ?

(a) Cordierite - sillimanite — plagioclase

' (b) Garnet — cordierite — plagioclase

85.

(c) Cordierite — kyanite — garnet

(d) Cordierite — sillimanite — garnet

Consider the following statements :

1. Low-pressure metamorphic belts
show a transition from andalusite to
sillimanite.. ’

2. In medium-pressure beits kyanite
converts to sillimanite.

3. Garnet takes the plaée of chlorite
and relatively low-pressure phase
cordierite shows up at this level.

- 4. High-pressure belts contain dense

phases of Jadeite or glaucophane.

Which of these statements characterize
the assemblages developed on. account
of metamorphism of pelitic rocks ?

(&) 1,2and 4
{(b) ! and 3 only
(¢) 2 and 4 only
(d 2,3 and 4
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(b) Fae 133
@ 2 1 4 3 (c) Faw 234
@ 3 4 1 2 (d) 2,3 34

27 : A - P-DTQ-J-HFM




86.

87.

88.

89.

90.

Which one of the following is rot a
prograde reaction ?

(a) Dolomite + quartz — talc + calcite

(b)Y Wollastonite + CO, - c:ilcite +
quartz

(c) -3 dolomite + diopside —" 4 calcite
+ 2 forsterite + 2 CO,

(d) Tremolite + 3 calcite + 2 quartz —
5 diopside + 3 CO, + H,0O

Which-one of the following processes
may result in development of disjunctive
cleavage 7

(a) Crystailization
(b) Dislocation creep
(c) Pressure solution

(d) Grain boundary migration

Which one of the following statements
correctly defines the term ‘swimmer’ ?

(a) Plankton
(b) Nekton

~{c) Benthos

(d) Bottom creeper

Which one of the following is the
principal and essential condition to be an
index fossil ?

(a) Wide horizontal distribution
(b) Short vertical distribution
(¢) Peculiar morphological feature

(d) More amount of fossils

Which one of the following is mono-
myaria and opisthocline type of
bivalvia ?

(a) Pecten .
(b Cardita . | ‘
(c) Lucina RS

(d) Exogyra .

P-DTQ-J-HFM - A

28

2l

91.

92.

Which one of the following is ‘not
‘biconvex’ ?

(a) Spirifer
(b) Orthis
{c) Productus

(d)} Terebratula

Which one of the following gastropods
is planispirally coiled ?

- (a) Murex

(b) Turritella
{c) Bellerophon

(d) Pleurotomaria

93. Which one of the following represents

94,

an uncoiled form of cephalopoda ?

{(a) Nautilus

{b) Orthocerus:
(¢) Goniatite

(d) . Ceratites ~

Which one of the following is regular
Echinoid ?

-(a) Hemiaster

(b) Micraster
(c). Cidaris

(d) Echinolampus -




86. fFfafaa & & =19 a1 & [FA far

@ g7

{a) m+wﬁ$~—>iﬁﬁ+m

(b) IRELARE + CO, — FAE +
whiEE -

(c) 3 SIAIATEE + TTHATHIEE — 4 FedTSE

' + 2 BIEETEE + 2 CO,

(d) AR + 3 HFATE + 2 TREF -
5 SIPHHETES + 3 CO, + H,0

. frferfaa 7 & fog @, gom & AoifE
ﬁaa:ra;rﬁa?rﬂiﬁm%?

(a) Froon

(b) faeamA we fawgor fagdor

(c) == e

(d) ST HYHT TATATIOT

 frefefea d & o wr v 'Oos’ s== wEr
yfearfée v g 7 |
(a) &S

(b) TTEH

(c) frae=s

(d) TeIl o GEarer

. Fafafaa & & =7 @1 ©, g9« Shenw

B & forw gepE o e ad ® 7
(a) Forega afasr fawar

(b) BT Feafu R

(c) fafdre stepfos agror

(@) ShaTYAT Fr rfee AT

, ffafae & o 349 a1 = G=Er &
AAafratar sk siftedsarmT e & 7
(1) Omewr \
(b) FfEaT |
 (c) FfemT

(d) QTSR

91, frafofee & & a9 or & ‘oEEe

g7

(a) feaffthe
(b) witdw

(c) =R

(dy Fggar

frafafeg & & 39 @1 w g

el Fefr & ?
(a) “!?W

(b) TEET

(¢) TR

(d) =Rt

. et ¥ & 1 4 o, Ak
argafor St € 7

(a) ATRREw

(b) TR

(c) mfweTEe

(d) ATz

. F=fofea & & 999 @ o, @7 (W)

THITATES & 7
(a) Xferarex
(b) WIEETER

- (c) Fete

(d) umTEATAEE
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95. Match List I with List IT and select the 98. Which period marks the disappearance
correct answer using the code given of the Rugose corals ?
below the Lists :

. (a) Triassic period
- List I *. . ListII ‘

(b) Jurassic period
A. Pedicle opening 1. Trilobita :

(¢) Permian period

B. Thorax ~ 2. Echinoidea

| C. Periproct '3 Bra chipoda (d) Cretaceous period
l D. Cardinal fossula 4. Anthozoa 99. Which one of the following is a cow
: Code : amongst Siwalik mammals ?
A B C D (a) Bos

@ 3 2 1 4 (b) Sus

b 4 2 1 3 . (¢) Suidae

(cy 3 1 | 2 4 (d) Equus

@ 4 1 2 3 100. Which one of the following fossils is the

: odd one ?
96, What is the correct age of Inoceramus ?

; ‘ (a) Ptilophylium
(a) Jurassic to Cretaceous -

(b) Otozamites
(b) Triassic to Eocene :

- (¢) Williamsonia
{c) Triassic to Recent .

d) Glossopteris -
(d) Cre_taceous to Recent ) P

101. Who has proposed, the Principle of

97. What is the common distribution range . . L
) uniformitarism’ ?

of Ammonoids ?

{(a) 1 Jurassic to Tertiar-y ' _ {a) James Hutton

(b) Triassic to Cretaceous " (b) Nicolaus 'Stien_ol !
(¢} Permian to Jurassic . (¢) Charles L)‘fcll :
(d) Triassic to Jurassic | ‘ (d) William Smith o
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95.

96.

97.

g1 Fr g 0 ¥ g ffrg

qﬁﬁ%ﬁ%ﬁqW¥wmﬁaﬁ
RS LA ST

gl 1 a:a"rn
AT 1. g
B. & (dT) 2. TR
C. ¥Rt 3, sfardrer
D.g@@ﬁw '4.ﬁ=eﬁ;vlh3n '

@ 3 2 1 4
® 4 2 1 3
© 3 1- 2 4
@ 4 1 2 3

IfREE A g g e 7
(a) ﬂiﬁﬁﬁﬁﬁiﬂm.
) TR & wE

() mﬁa%aﬁqﬂa
(d) TRy & sbma

devatse Y arr e vl # 7
(2 T ¥ g

(b) FrEeR & fReww
<c)'_@ﬁﬂﬁ'=‘ﬁ

() TR R 2R
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98.

99.

100,

101.

aﬁﬁmm@ﬂﬁaﬂm%ﬁﬁwaﬁ
T sar g ?

@) Frfe Fe

(o) Ffer e

(c) ufdas w7

@ fwevm wer

Renfers waadl § fmfafeg & & R
o uE, TR

(a) ‘=

(b) qF

(© g

(@) =

frafafea & & 9 &1 u& Stanw o=
it & forer & 7

(a) SerHEAA
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102. Consider the following statements - 104. Which one of the following is the
_ . : correct hierarchial order of lithostrati-

1. Stratigraphy deals with sequential graphic unit ?
arrangement of layered rocks , :

according to the time of their (a) Group, Formation, Member and

formation. Bed

2. Correlation -aims at matching the _
rock formations of distant areas (b) Formation, ~Group, Bed and
deposited at the same stage of Member

earth’s history. '
: (¢) Bed, Member, Formation and

3. Correlation aims at matching the Group
rock formations of distant areas
deposited during different stages of (d) Group, , Member, Formation and

earth’s history. : :  Bed

Which of these statements are correct ?
B 105. Match List I with List II and select the -

@) lctnly ' _ correct answer using the code given
() T and 2. below the Lists : : L
(¢) 1and3 : ' ' List 1 List II
(@) 2and3 A. Talchir . 1. Mesoproterozoic
' _ Formation
103. Consider the following statements : ' ' 2. Lower carboni-
\ - _ - ' ferous '
1. An Erathem is represented by a B. LK.a]rahat
. Limestone

succession of r1ock formation 3. Middle Miocene

deposited during an Era. Formation
: 4. Archean
2. A system does not constitute a part C. Chinji
of an Erathem. Formation
3. A system is represented by a - " Code :
succession of rocks which were -
deposited during a period. T A B C

Which of these statements are correct ?

(a) 1 only ,
) 2 only ™ 3 1 4
© land2- | @ 4 3 2
(d 1 and3 | ‘. o @ 2 1t 3
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102. freafafes @l w ffer fifsa

1. wafdhy, wafia et &, s fmfor &
9T F AU, HiNG TEET &
SITEAT FAT @ |

2. gedey w1 I AT F IfeE A
O € srawr ) Feria e et %
o wopel 1 e s el

3. wedey & RVT 9 F sfiew F

fafirer sl & sk fgfia
T &A1 o A TR T (AT FAT
2

il & A/  wd 2/8 7

(@) Had |

(b) 132

(c) 133

. (d) 2R3

103. Freafafee suAT 9T ffmwR fife -

1. O WETEReT & <R fAafim o @

& A F gRT TF Agrwedrg e
frefia fiar 21

2. T, U HeTRET ST 0w ST

Al BT § |
3-0&F &7 ¥ oR fAafia = &

IFT F U T ag fFefa g
gl -

T & AT a1/ ST wer /% 7
(a) a1
(b) FaE 2
(¢) 132
(@) 133

104, Frferfaa & & &7 &1 oF, 0w @it
T T T ISR S H e 7

(2) . @Y, A7 9YE, GEE AW dE&R
(b) & TE, O, TER HR =
(c) mm St g ok &

(d) §9, geE, A GG AT &R

105, g 1 &1 gEr 11 & gafem $ifeg ik

gfuat & 919 Ry g 52 #1 @ = a9
Wﬁﬁﬂ:
g4 1 . gaT 11
A. TR 1. ¥4 9Tt
e T 2. i FEleY
B. &wiee I 3. |=A wEeA A
&R S 998 4. sRETT
c. fa=it
tF I8
e ¢
3}
A B ¢

@ 4 2 1
® 3 1 4
© 4 3 2
@ 2 1 3 |
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106. Which one of the following is the
correct chronological order of different
periods in the Paleozoi¢ Era ?

107.

108.

109.

(a) Silurian, Cambrian, Ordovician,
Permian, Carboniferous and Devo-
nian

(b)

Permian, Carboniferous, Devonian,
Silurian, Ordovician and Cambrian

Ordovician, Silurian,
Carboniferous and

Cambrian,
Devonian,
Permian

(c)

(d) Devonian,
* brian,

Perimian

Cam-
Silurian and

Carboniferous,
Ordovician,

What is the age of Deccan traps 7
(a)
)
()
(d)

Upper cretaceous to lower Eocene
Lower cretaceous to upper Eocene
Paleocene to lower Eocene

Cambrian to Recent

Which one of the following represents
the Physiographic divisions of India ?
()
(b)

Peninsula and Indogangetic plains

Peninsula, Indogangetic plains and
Extra-peninsula

Extra-peninsula and Indogangetic
" plains

(c)

(d)

Peninsula and Extra-peninsula

On which basemént the sediment of
Dharwar supergroup were laid over ?
(a)
(b)
(¢}
(d)

Marble and Conglomerate
Phyllites and Slates
Basalt and Conglomerate

Sargur  Schist
Gneissic complex

and Peninsular
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110. Which one of the following super-

111,

112.

(d)

groups is known to be associated with
diamonds ?

(a) Vindhyan supergroups

(b) Dharwar supergroups

{c) Dongargarh supergroups

(d) Gondwana supergroups

Which one of the following rock types

occur commonly in the Vindhyan super-
group ?7

(a)
(b)

Granttes, Shales and. Basalts

Sandstones, Shales and Conglo-

merates .
Sandstones, Slates and Gneisses

(¢)

(d) Conglomerates, Phyllites and Gra-

nites
Consider the following statements :

l. Damuda series of Gondwana
containg a great store of mineral
wealth in its coal measures.

2. Most of the coal deposits of Jharia
field belong to the Raniganj stage
of Gondwana.

3. Besides coal, Manganese is the
chief product of Damuda rocks.

4. The major cealfields of Gondwana
rocks in India are in Bihar, Rani-
ganj, Ballarpur and Singareni.

Which of these statements are correct ?
(a) l and 2

(b) 2and 3

(c) 3 and 4

| and 4




106, ffafea & & &7 &1 o, oA

107.

108.

109.

gerEeT § fafira woat @1 ¥ FEgEn
g7
() Rregfeaw, s, s,

@) RA, we, S, aetfnm,
| freife WK afif

A T A AT ?
(a) ik Ry & et anfeqas
by fre frve & gaft snfegee

(c) Tenfeyaw & f= snfeqa
(@) Ffeaw @ sbme

frafefag § &9 @ 6, R &
qensfas fawmm &1 el sar 2 ?

(a) HEgIT o Rrg-wm #TF

(b) FEE, Fee T QT 3R TEaT
(c) WEERGT R fEeg-vm AT

(d) TR R TEERE

ffr R § IR gRa© @ F
yFETE T gr A !

(a) THHT X TfEHH

(b) HIEETEE AR W

(c) SdTee 3T TferRA

(&) iz fee R graddta g afew

Gl
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110.

111.

112,

fAraferfaa & & 17 91 e s7feey 91 &9
AU amg e’

(2) Torea afims

(b) aaTE sAfEe

(c) SWraTg ATeEs

(d) Team™T AftEdT -
frefafag & & 9 o7 & 9 ™R
amTa: fareas aftrrer § g Sman @ 7
(a) TATEE, U T T

(b) STIENH, I R FEHNHA

(c) TR, TT 3 TT7H

(@) wRHTH, wroemse R AT

fafafas st 9 ffer fifeg -

}. SieaTaT St FrEy A H gd@a Figer
gen wEaK § @i wef T O 989
ISR A ¢ |

2. wfar o ¥ uftmry S fe
MeaTeT & TN € & A € |

3. Sae & afafees, A aE e
& &I SUE ¢ |

-4.%&%%%@%%
faer, TRRTST, TeaRQR 3R fERAT
A -

A Y FuTaer € 7

(a) 132

(b) 23T 3

(c) 3T 4

(d) 134
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113. Who introduced the name ‘Gondwana’ ?
(a) Krishnan
(b) Mediecott
(c) Wadia

(d} Ravindra Kumar

Directions : .

Each of the next Seven (07) items consists of
two statements, one labelled as the ‘Assertion
(A)” and the other as ‘Reason (R)’. You are to
examine these (wo statements carefully and
select the answers to these items using the
codes given below :

Codes :

(a) Both A and R are individually true

and R is the correct explanation
of A

(b) Both Aand R are individually true
but R is not the correct explanation
of A

(¢} A is true but R is false
(d) A is false but R is true

114. Assertion (A) : When the intermediate
principal stress axis is
vertical, conjugate strike-
slip faults form.

Reason (R%: Relative movements of
blocks during faulting
takes place perpendi-
cular to the intermediate
principal stress .axis.

115. Assertion (A) : Mineral quartz  has
brought a revolution in
the  electronics  and
technology.

Reason (R) : Quartz is an important

piezoelectric mineral.
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116.

117.

118.

119.

120.

Assertion (A)

Reason (R)

Assertion (A)

Reason (R)

Assertion (A) :

Reason (R)"

Assertion (A) :

Reason (R) :
Assertion (A)

Reason (R):

_prolonged

: The total mass of feld-
" spathoidal felsic rocks in

the crust is small.

: Nepheline syenites and

phonolites are scattered
widely on oceanic and
continental crust.

: Clay minerals form in

the  environment of
weathering, where tem-
peratures are low and
moisture is plentiful.

: They reflect the kinds of

mineral weathered and
condition of weathering.

Primary porosity and
permeability increase
with increasing textural
maturity.

: The more mature the

sediment is, less matrix
and more pore space it
possesses,

Texturally mature sand-
stones are  generally
mineralogically mature.

Environment  inducing
reworking
help improvement of
both textural ‘and min-

eralogical maturity.

. A rock of a given bulk

composition when meta-
morphosed at a parti-
cular ‘temperature and
pressure conditions has a
specific fixed mineral
composition.

Equilibrium was attained
during metamorphism.




113, ‘migamr T feaa fGar 7

(a) fororm

(b) ASAIHIE

{c) grfear

(d) o= FAR
ﬁ%‘ﬂ':
AT 9T (07) TR ® &Y 9 €, TF &l
‘AT (A) AT TR T FROT(R) FET TATR |
T QA aThed] T AEEEE® R FT A
AT T I A Y g Fe A FwEr &
R
FE |

(@) A SRR 47 7 &, R, A F

HET TR §

() A MR A & E, IR, A T

e TS 7
(c) A E ¥, R ITAT ¢
(d) Am%,q*tr—qRa@%

114.W(Aj:aarr&aw{§axgﬁaﬁara#
Fwafer  gar 8, Gyl
afaeraador 9y 79 €4
gy F SRW @Sl @l
‘arﬁféﬁiiwmgw
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afier wofis ¥, wEfiE
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115. 9T (A) :

St faree o & i ar

Al
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affsr & |
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116.

117.

118.

119.

120.

FUT (A)

S (R)

FET (A) :

Eh"k"T(R):

T (A)

. T (R)

FAT (A)

SO (R) :

DI (A):

&HT (R) :

iy ¥ Fewduizer Kl
q F1 T T HA B |

c Awfem @mEAEE @R

S ETC | A o L LA 1 4
HETEIE 942t qT qafy #rar
§ foraw o 21

el ghawr wffw sqeaa &
mma@rﬁm%%l‘
3, sverfag @ & 9aK
R svEa #Y I W
afefafea = €|

T IR9FIdT S & A
qrT uTaiHeE Xgar iR
AT Jgar # |

. Foraar st smae afteas

eraT & Ian IaqT H9 AfF
AR i T &I BT g

TEATHE . &9 o IO
AN HEAT: @t
ot g & |

armace g gafda
qAdfeRar, B R wfsa
AT aftqsmar & Afa A
HeTaaT Lt § |

e 2 gY € H T A
A T (G a7 @R T
23 I HEATARE AT 8, 3
Io u o fafiee A
af s gee gar g
HTITAXT & A AT
ol

A - P-DTQ-J-HFM




SPACE FOR ROUGH WORK
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